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What do | need to be able to |1 Deunords

I Equaity: two expressiors that have the same. valve

do?

- 1 E4vation: g mathematical statement that two things are equa
. || Equats: represented by = symbol — means the same

By the end of this rit you shoud be able [} Solution: the set or value that salisfies the equation

*  Form and solve Inear equations
*  Understand lke and unlike terms
*  Simplfy dlgebraic expressions

[ Inverse: the operation that undoes what was dore by the previous operation. (The opposite operation)
I Term: a single. number or variable

1 Like: variabes that are the same are ke’

I Coefficient: o multiplcative. factor in front of a variable eg 5x (5 is the coefficient, x is the variabk)
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I I Expression: a maths sentence with a minmum of two numbers and ait least one math operation (no equaks sign)
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[ Solve: to find the solution :
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3 ?? | | FOOI FamIIIeS Use a bar model to disply the relationships between terms and numbers I
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| Soke one step equations (/=) Teree e ottt Sobe one step equations ( x/+) |
: ¥ 42 I g A H 5 5 Don't forget you know how :
| x + 42 =59 —_ . . Dorit forget you know how |1 4 — e e to use function machines I
I [ to use forction machines | | 4 I I I |
I X+ 4d-50 Il 1 5— x4 —>f |
42+x =59 , . . -4
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| Like and unlike terms | | Equivalence ! I Colecting ke terms = symbol |
| Like terms are those whose variables are he same : | Check equivalence. by substitution : | The = symbol means equivalent. to I
: © od 3Q e ketoms | : eg m-10 | : It is used to identify equuslent expressions :
LU Iy B5m  2xam Tm=3m || Cokctin fke temms |
| the vaable is L1 ox0 Ax (x10) (70 =0} Ol ke terms can be combined I
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| vivaent expressions R
: tm\varlable: e | : Repeat this with various valbes for m o check : : @ :
| NOT the same I [ \ X‘ / I
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| Examples and non-examples I [T TTT1] I % + b I
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| Like terms Un-ike terms L) 2xam || Common misconcestions |
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| y 7y Y 7x : I ED} 4m : I 2+ 233+ dx = 0x+ 3 I
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[ Note here ab and ba are commutative. operations, so are stil ike terms | I 4m | I |
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